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Ex) Find the equation.of the-line that passes through the point (5, 9) and is p::lm'u'uﬁ’l rtoy —4x =3
0] \f‘;‘ﬁjq:i J U= Yx43

N-Ye® m(x-x)
\y=9= 4(x-5)
Y= = 4x%=
Akl
Operations on Functions
(F +g)x) = f(x) + g(x) (f —g)(x) = f(x) - g(x) (fg)(x) = f(x) » g(x)
(feg)(x) = f(g(x) (gof)(x) = g(f(x) (fef 7)) = f(f (=)

[~ (x) [the inverse of f(x)] is obtained by:

Replace f(x) with y

2. Solve the equation for x
3. Switchxandy

4. Replace y with [~
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Ex) Given f(x) =3x+2 and g(x) =4 —5x findthe following
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